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4 What do you understand by time value of money ? UNIT 11

. i . Attempt any 2 questions. Each question om._imm 10 marks :
S Raghu borrows Rs. 80000 for a musical system at a monthly

interest rate of T : 3 i i
s ate of 1 percent. The loan is to be repaid in 12 1 What do you mean by cost-benefit analysis ? Explain the steps
ié thly inst; ;

1ual monthly installments, payable at the end of each month, in cost benefit analysis.
Prepare the loan amortization schedule.

; 2 What is cost-effectiveness analysis ? Discuss its applications

6 You want to horrow Rs. 1500000 ¢ ) ) : .
: s. 1500000 to buy a flat. You approach in various fields.

a housing company which charges 13 percent interest. You
ca §C ;

.3 pay Rs. 200000 per year towards the loan amortization.
What should be maturity period of the loan?

3 Explain in detail different techniques you will follow for analysis

of public projects.

UNIT 11 UNIT IV

Attempt any 2 quectinme L. _ )
Pt any 2 questions. Each question carries 10 marks : - §
Attempt any 2 questions. Each question carries 10 marks :

1 There are two projects A and B. A has a service life of one
ear: while B« caf f 1ip -
W r,; while _w. s usetul life is five years. The initial cash outlays 1
or both projects may be assumed to be Rs 20,000 each.
The cash proceeds from project A (at the end of first year)

Describe any two methods of providing depreciation. Also
give the merits and demerits of each method described.

Assuming that the cost structure and selling prices remain the

amount to be Rs. 24,000, The cash generated by project B 2
at the end of the fifth year i likely to be Rs. 40,200 Assurme ) ) R pe s LT Bf el

; (a) Profit Volume Ratio -
(b) Fixed Cost:
(c) Break even point for Sales:

that the required rate of return is 10 percent. Compute the
NPV and IRR of both the projects.

3%4_0.?: .:;? Rs. 16,000 and is expected to generate cash (d) Profit when Sales are of Rs. 1.00,000:
nriows R0 )
of e <~. o Rs. 8,000, Rs. 7,000 and Rs. 6,000 at the end (e)  Sales required to earn a profit of Rs. 20,000.
ach vear for o gr—— .
year for next 3 years. Compute IRR. Period | Sales (Rs.) Cost (Rs.) | Profit (Rs.)
What are the limitations of [RR method as compared to NPV | 1.20,000 1,11,000 9,000
method 7 =V, bl
11 1,40,000 1,27,000 13,000
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